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cD 
LSE-02 : ECOLOGY 
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Note : Question No.1 is compulsory. Attempt any four 

questions from Q.Nos. 2 to 6. 

1. 	(a) 	Define the following terms : 	 5 
(i) Water - logging 

(ii) Gross - primary production 

(iii) Frequency 

(iv) Domestication 

(v) Autecology 

(b) State whether the given statements are 	2 

true or false : 

(i) Shade loving plants are called 

heterophytes. 

(ii) Denitrifying bacteria give back free 

nitrogen to the atmosphere. 

(iii) The niche of an organism refers to the 

role it plays in the ecosystem. 

(iv) Homo Sapiens belong to mammalian 

order Primates. 
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(c) 	Fill in the blanks : 	 3 

(i) Excessive phosphates and nitrogenous 

compounds in water lead to 

of a water body. 

(ii) The increase in concentration of a 

toxin in a food chain at its higher 

trophic levels is called 	 

is the sum total of the 

genes of all the individuals in a 0 	- 
population. 

	

2. 	Differentiate between the following : 	 10 

(a) Brackish water and Marine water 

(b) Temperate forest and Tropical forest 

(c) Commensalism and Amensalism 

(d) Indeterminate species and Vulnerable 

species 

	

3. 	Answer the following : 	 10 

(a) What is atmospheric stratification ? Explain 

with the help of diagram. 

(b) What is desertification ? Explain with any 

Indian example. 

(c) What determines the rate of succession in 

fresh-water bodies ? 

(d) Discuss the hazards of radiation pollution. 
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4. (a) Draw the S - and J - shaped growth curves 	3 

and explain them in terms of population 

ecology. 

(b) 	Briefly discuss the characteristics of water 	7 

that are favourable to biological systems. 

5. (a) 	Explain the Survivorship Curves. 	 5 

(b) Differentiate between atmospheric nitrogen 
	

5 

fixation and biological nitrogen fixation. 

6. Write short notes on any four of the following : 	10 

(a) Biosphere 

(b) Characteristics of lentic ecosystem 

(c) Herbivory 

(d) Biological oxygen demand 

(e) Sedimentary cycle 
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